

**Some Geometric Properties on a Subclass of Meromorphic
Multivalent Functions Associated with Integral Operator**

Ibtihal Nsaif Jasem. Abdul Rahman S. Juma

Department of Mathematics, University of Anbar, Ramadi, Iraq

E-mail: iptehalnj@gmail.com

E-mail: eps.abdulrahman.juma@uoanbar.edu.iq

Some Geometric Properties on a Subclass of Meromorphic Multivalent Functions Associated with Integral Operator

Ibtihal Nsaif Jasem. Abdul Rahman S. Juma

Department of Mathematics, University of Anbar, Ramadi, Iraq

E-mail: iptehalnj@gmail.com

E-mail: eps.abdulrahman.juma@uoanbar.edu.iq

Abstract: In this paper, we have defined a subclass $\mathcal{M}_q^{h,x}(\delta, G, D)$, of meromorphic multivalent functions by using integral operator $\mathfrak{I}_p^x f(z)$. Also, we have obtained the coefficient bounds for the function of the form $f(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q} b_{h-q} z^{h-q}$ ($a_{h-q} \geq 0, q \in \mathbb{N}$), and belong to the class $\mathcal{M}_q^{h,x}(\delta, G, D)$. We have get some important geometric properties of coefficient estimates such as extreme points and we have proved that convex linear combination is in the same class. A growth and distortion theorems were introduced. Furthermore, we have deduced the radii of starlikeness and convexity theorems and partial sum property is defined. At last, in the present paper some concepts like neighborhood for analytic Univalent functions are going to be introduced and proved that $N_\epsilon(f) \subset \mathcal{M}_q^{h,x}(\delta, G, D)$.

Keyword: Meromorphic multivalent functions, integral operator, extreme points, growth and distortion bounds, ϵ -neighborhood property, partial sum property.

المستخلص: في ورقة البحث هذه قمنا بتعريف فئة فرعية $\mathcal{M}_q^{h,x}(\delta, G, D)$ للدالة الميرومورفيه المتعدده باستخدام مؤثر التكامل $\mathfrak{I}_p^x f(z)$. كذلك حصلنا على حدود المعاملات للدالة التي من الصيغة $f(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q} b_{h-q} z^{h-q}$ ($a_{h-q} \geq 0, q \in \mathbb{N}$), لقد قمنا بالحصول على بعض الخواص الهندسية المهمة لتقديرات المعامل مثل ذلك النقاط المتطرفة وقمنا ببرهان التركيب الخطي المحدب في نفس الفئة. نظريات النمو والتشويه قد قدمت ايضاً. بالإضافة الى ذلك قمنا باستنتاج نظريات انصاف الاقطار النجمية والمحدبة وعرّفنا خاصية الجمع الجزئي. اخيراً في الورقة البحثية

المقدمة هذه بعض المبادئ كالجوار للدوال التحليلية الاحادية التكافؤ قد قدمت وبرهنت وذلك بأن

$$\cdot N_\epsilon(f) \subset \mathcal{M}_q^{h,x}(\delta, G, D)$$

1.Introduction

Meromorphic multivalent have been studied by many authors in field differential geometry [1-5] and mathematical finance [6-10]

Let \mathcal{M}_q^h denote the class of meromorphic functions of the form

$$f(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q} z^{h-q}, (a_{h-q} \geq 0, q \in \mathbb{N}), \tag{1.1}$$

which analyze in the open, pierced disk

$$U^* = \{z: z \in \mathbb{C}, 0 < |z| < 1\}. \text{ If } f \in \mathcal{M}_q^h$$

Presented by (1.1), and

$$g(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} b_{h-q} z^{h-q}, (b_{h-q} \geq 0, q \in \mathbb{N})$$

then the convolution $f * g$ defined by

$$(f * g)(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q} b_{h-q} z^{h-q} = (g * f)(z).$$

For the function $f \in \mathcal{M}_q^h$, we define the integral operator Seoudy [11] $\mathfrak{J}_q^x f(z): \mathcal{M}_q^h \rightarrow \mathcal{M}_q^h$ as 01

$$\mathfrak{J}_q^x f(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} \left[\frac{010}{h-q+1} \right]^x a_{h-q} z^{h-q}, (x \geq 0, q \in \mathbb{N}). \text{ Which studied by [12].}$$

2. Definition: [13] We apply $\mathfrak{J}_q^x f(z)$ to define the class \mathcal{M}_q^h as follow. The function provided by (1.1) meets the inequality, it is said to be in the class $\mathcal{M}_q^{h,x}(\delta, G, D)$

$$\left| \frac{\delta z^{q+2} [\mathfrak{J}_q^x f(z)]'' + z^{q+1} [\mathfrak{J}_q^x f(z)]' - q[\delta(q+1) - 1]}{D[\delta z^{q+2} [\mathfrak{J}_q^x f(z)]'' + z^{q+1} [\mathfrak{J}_q^x f(z)]' - Gq[\delta(q+1) - 1]} \right| < 1, \tag{2.1}$$

where $\left(z \in U^*, x \geq 0, q \in \mathbb{N}, -1 \leq D < G \leq 1, 0 \leq \delta < \frac{1}{q+1} \right)$.

3. Main Results

The coefficient constraints for the function of the from (1.1) to belong to the class $\mathcal{M}_q^{h,x}(\delta, G, D)$ are as follows.

Theorem (3.1): Suppose that $f \in \mathcal{M}_q^h$, the function $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ if and only if

$$\sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1] a_{h-q} \leq q(D-G)[\delta(q+1)-1], \tag{3.1}$$

the inequality is sharp for $f(z)$ given by

$$f(z) = \frac{1}{z^q} + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1]} z^{h-q}. (h \geq 1)$$

Proof: Let the inequality (3.1) holds true and assume that $0 < |z| = r < 1$. Then from (2.1) we get

$$\begin{aligned} \mathcal{A}_f &= \left| \delta z^{q+2} [3_q^x f(z)]'' + z^{q+1} [3_q^x f(z)]' - q[\delta(q+1)-1] \right| \\ &- \left| D \left[\delta z^{q+2} [3_q^x f(z)]'' + z^{q+1} [3_q^x f(z)]' \right] - Gq[\delta(q+1)-1] \right| \\ &= \left| \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} z^h \right| \\ &- \left| q(D-G)[\delta(q+1)-1] + D \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} z^h \right| \\ &\leq \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} r^h \\ &- q(D-G)[\delta(q+1)-1] - q(D-G)[\delta(q+1)-1] \end{aligned}$$

$$\begin{aligned}
 & -D \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1) + 1] a_{h-q} r^{h-q} \\
 & \leq \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1) + 1] a_{h-q} \\
 & -q(D-G)[\delta(q+1)-1] \leq 0.
 \end{aligned}$$

From (3.1), hence $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$.

Conversely, assume that $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$, then

$$\begin{aligned}
 & \left| \frac{\delta z^{q+2} [{}_3q^x f(z)]'' + z^{q+1} [{}_3q^x f(z)]' - q[\delta(q+1)-1]}{D[\delta z^{q+2} [{}_3q^x f(z)]'' + z^{q+1} [{}_3q^x f(z)]'] - Gq[\delta(q+1)-1]} \right| \\
 & = \left| \frac{\sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} z^h}{q(D-G)[\delta(q+1)-1] + D \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} z^h} \right| < 1,
 \end{aligned}$$

since $Re(z) \leq |z|$ for all z ,

$$Re \left(\frac{\sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} z^h}{q(D-G)[\delta(q+1)-1] + D \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (h-q)[\delta(h-q-1)+1] a_{h-q} z^h} \right) < 1.$$

By letting $z \rightarrow 1^-$, we have

$$\begin{aligned}
 & \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1) + 1] a_{h-q} \\
 & \leq q(D-G)[\delta(q+1)-1].
 \end{aligned}$$

Last but not least, if we take.

$$f(z) = \frac{1}{z^q} + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1]} z^{h-q}. (h \geq 1).$$

Hence, the proof is complete.

Corollary (3.2): If $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$, then

$$a_{h-q} \leq \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} z^{h-q}, (h \geq 1)$$

where $\left(z \in U^*, x \geq 0, q \in \mathbb{N}, -1 \leq D < G \leq 1, 0 \leq \delta < \frac{1}{1+q}\right)$.

Corollary (3.3): If $0 \leq \delta_1 < \delta_2 < \frac{1}{q+1}$, then

$$\mathcal{M}_q^{h,x}(\delta_1, G, D) \subset \mathcal{M}_q^{h,x}(\delta_2, G, D).$$

In the following theorem, we get the extreme points of the class $\mathcal{M}_q^{h,x}(\delta, G, D)$

Theorem (3.4): The function $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ given by (1.1) if and only if the conditions below are true

$$f(z) = \sum_{h=0}^{\infty} c_{h-q} f_{h-q}(z), c_{h-q} \geq 0, \sum_{h=0}^{\infty} c_{h-q} = 1,$$

where

$$f_{-q}(z) = \frac{1}{z^q},$$

$$f_{-q}(z) = \frac{1}{z^q} + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} z^{h-q}. (h \geq 1)$$

Proof: Assume that

$$f(z) = \sum_{h=0}^{\infty} c_{h-q} f_{h-q}(z), c_{h-q} \geq 0, \sum_{h=0}^{\infty} c_{h-q} = 1,$$

then

$$f(z) = c_{-q} f_{-q}(z) + \sum_{h=1}^{\infty} c_{h-q} \left[\frac{1}{z^q} + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} z^{h-q} \right]$$

$$+ \sum_{h=1}^{\infty} c_{h-q} \left[\frac{1}{z^q} + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} z^{h-q} \right]$$

$$= \frac{1}{z^q} + \sum_{h=1}^{\infty} \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} c_{h-q} z^{h-q} .$$

From Theorem (3.1), we have $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$.

Conversely, assume that $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ and by letting

$$c_{-q} = 1 - \sum_{h=1}^{\infty} c_{h-q} , \text{ where}$$

$$c_h = \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} a_{h-q} , \text{ this concludes the results.}$$

Theorem (3.5): Suppose that

$$f_{\tau}(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q,\tau} z^{h-q} , \tau = 1,2,3, \dots , s$$

and $f_{\tau}(z) \in \mathcal{M}_q^{h,x}(\delta, G, D)$, then $f(z) = \sum_{\tau=1}^s c_{\tau-q} f_{\tau}(z)$ in the same class where

$$\sum_{\tau=1}^s c_{\tau-q} = 1 .$$

Proof: Theorem (3.1) states that we have

$$\begin{aligned} & \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1] a_{h-q,\tau} \\ & \leq q(D-G)[\delta(q+1)-1] (\tau = 1,2,3, \dots , s). \end{aligned}$$

But

$$\begin{aligned} f(z) &= \sum_{\tau=1}^s c_{\tau-q} f_{\tau}(z) = \sum_{\tau=1}^s c_{\tau-q} \left[\frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q,\tau} z^{h-q} \right] \\ &= \frac{1}{z^q} \sum_{\tau=1}^s c_{\tau-q} + \sum_{h=1}^{\infty} \left[\sum_{\tau=1}^s c_{\tau-q} a_{h-q,\tau} \right] z^{h-q} \\ &= \frac{1}{z^q} + \sum_{h=1}^{\infty} \left[\sum_{\tau=1}^s c_{\tau-q} a_{h-q,\tau} \right] z^{h-q} , \end{aligned}$$

since

$$\begin{aligned} & \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1] [\sum_{\tau=1}^s c_{\tau-q} a_{h-q,\tau}] \\ &= \sum_{\tau=1}^s c_{\tau-q} \left\{ \sum_{h=1}^{\infty} \left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1] a_{h-q,\tau} \right\} \\ &\leq \sum_{\tau=1}^s c_{\tau-q} \{ q(D-G)[\delta(q+1)-1] \} \\ &= q(D-G)[\delta(q+1)-1] \sum_{\tau=1}^s c_{\tau-q} = q(D-G)[\delta(q+1)-1]. \end{aligned}$$

A growth and distortion property for functions in the subclass $\mathcal{M}_q^{h,x}(\delta, G, D)$ is provided in the next two theorems.

Theorem (3.6): If $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ given by (1.1), then for $0 < |z| = r < 1$,

we have

$$\begin{aligned} \frac{1}{r^q} \left(1 - \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right) &\leq |f(z)| \\ &\leq \frac{1}{r^q} \left(1 + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right). \end{aligned}$$

Proof: Since $f(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q} z^{h-q}$, ($a_{h-q} \geq 0, q \in \mathbb{N}$), then

$$\begin{aligned} |f(z)| &= \left| \frac{1}{z^q} + \sum_{h=1}^{\infty} a_{h-q} z^{h-q} \right| \\ &\leq \frac{1}{|z|^q} + \sum_{h=1}^{\infty} a_{h-q} |z|^{h-q} \\ &\leq \frac{1}{r^q} (1 + \sum_{h=1}^{\infty} a_{h-q}). \end{aligned} \tag{3.2}$$

From Corollary (3.2) $a_{h-q} \leq \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q-1)+1]}$, ($h \geq 1$), hence from (3.2) we

obtain

$$|f(z)| \leq \frac{1}{r^q} \left(1 + \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right),$$

similarly,

$$\begin{aligned} |f(z)| &\geq \frac{1}{|z|^q} + \sum_{h=1}^{\infty} a_{h-q} |z|^{h-q} \\ &\geq \frac{1}{r^q} \left(1 + \sum_{h=1}^{\infty} a_{h-q} \right) \\ &\geq \frac{1}{r^q} \left(1 - \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right). \end{aligned}$$

Theorem (3.7): If $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ given by (1.1), then for $0 < |z| = r < 1$, we have

$$\begin{aligned} \frac{q}{r^{q+1}} \left(1 - r \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right) &\leq |f'(z)| \\ &\leq \frac{q}{r^{q+1}} \left(1 + r \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right). \end{aligned}$$

Proof: Assume that $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$, then

$$\begin{aligned} |f'(z)| &\leq \left| \frac{q}{z^{q+1}} + \sum_{h=1}^{\infty} a_{h-q} (h-q) z^{h-q-1} \right| \\ &\leq \frac{q}{|z|^{q+1}} + \sum_{h=1}^{\infty} a_{h-q} (h-q) |z|^{h-q-1} \\ &\leq \frac{q}{z^{q+1}} \left(1 + r \sum_{h=1}^{\infty} a_{h-q} \right) \\ &\leq \frac{q}{z^{q+1}} \left(1 + r \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right). \end{aligned}$$

Also, we have

$$\begin{aligned}
|f'(z)| &= \left| \frac{q}{z^{q+1}} - \sum_{h=1}^{\infty} a_{h-q} (h-q) z^{h-q-1} \right| \\
&\geq \frac{q}{|z|^{q+1}} - \sum_{h=1}^{\infty} a_{h-q} (h-q) |z|^{q^{h-q-1}} \\
&\geq \frac{q}{z^{q+1}} (1 - r \sum_{h=1}^{\infty} a_{h-q}) \\
&\geq \frac{q}{z^{q+1}} \left(1 - r \frac{q(D-G)[\delta(q+1)-1]}{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]} \right)
\end{aligned}$$

Thus, the proof is complete.

The following theorems define the partial sum property and indicate the radii of starlikeness and convexity.

Theorem (3.8): If $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$, Consequently, $f(z)$ is starlike and meromorphically univalent of order β in $|z| < k_1$, ($0 \leq \beta < q$) and meromorphically univalent convex of order η in $|z| < k_2$ ($0 \leq \eta < 1$) where

$$k_1 = ihf_h \left\{ \frac{\left[\frac{1}{h+q+1}\right]^x (q-\beta)(1-D)(h-q)[\delta(h-q-1)+1]}{q(h+q-\beta)(D-G)[\delta(q+1)-1]} \right\}^{\frac{1}{h}}, (h \geq 1). \quad (3.3)$$

And

$$k_2 = ihf_h \left\{ \frac{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]}{(h+q-\eta)(D-G)[\delta(q+1)-1]} \right\}^{\frac{1}{h}}, (h \geq 1). \quad (3.4)$$

Proof: To prove $\left| q + \frac{zf'(z)}{f(z)} \right| \leq q - \beta$, $|z| < k_1$ for starlikeness

$$\text{Since } \left| q + \frac{zf'(z)}{f(z)} \right| = \left| \frac{\sum_{h=1}^{\infty} h a_{h-q} z^h}{1 + \sum_{h=1}^{\infty} a_{h-q} z^h} \right| \leq \frac{\sum_{h=1}^{\infty} h a_{h-q} |z|^h}{1 - \sum_{h=1}^{\infty} a_{h-q} |z|^h} \leq q - \beta, |z| < k_1$$

$$\text{or } \sum_{h=1}^{\infty} h a_{h-q} |z|^h \leq (q - \beta) - (q - \beta) \sum_{h=1}^{\infty} a_{h-q} |z|^h \text{ or } \sum_{h=1}^{\infty} \frac{h+q-\beta}{q-\beta} a_{h-q} |z|^h \leq 1.$$

From Corollary (3.2) $\frac{h+q-\beta}{q-\beta} |z|^h \leq \frac{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]}{q(D-G)[\delta(q+1)-1]}$,

$$|z|^h \leq \frac{\left[\frac{1}{h+q+1}\right]^x (q-\beta)(1-D)(h-q)[\delta(h-q-1)+1]}{q(h+q-\eta)(D-G)[\delta(q+1)-1]}.$$

Thus, we obtain (3.3). For convexity, using Alexander's Theorem $f(z)$ is convex if and only if $zf'(z)$ is starlike we conclude (3.4) which is completes the proof.

Theorem (3.9): If $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ given by (1.1), $-1 \leq D < G \leq 1$ and

$$\mathcal{R}_1(z) = \frac{1}{z^q}, \mathcal{R}_s(z) = \frac{1}{z} + \sum_{h=1}^{s-1} a_{h-q} z^{h-q}, (s = 2, 3, \dots).$$

Also suppose that $\sum_{h=1}^{\infty} y_{h-q} a_{h-q} \leq 1$ where

$$y_{h-q} = \frac{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]}{q(D-G)[\delta(q+1)-1]}, \tag{3.5}$$

then

$$Re\left(\frac{f(z)}{\mathcal{R}_s(z)}\right) > 1 - \frac{1}{y_s}, \quad Re\left(\frac{\mathcal{R}_s(z)}{f(z)}\right) > \frac{y_s}{y_s+1}. \tag{3.6}$$

Proof: Since $\sum_{h=1}^{\infty} y_{h-q} a_{h-q} \leq 1$ from Theorem (3.1) $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ and

$y_{h-q+1} > y_{h-q} > 1, h \geq 1$, therefore

$$\sum_{h=1}^{s-1} a_{h-q} + y_s \sum_{h=s}^{\infty} a_{h-q} \leq \sum_{h=1}^{\infty} y_{h-q} a_{h-q} \leq 1. \tag{3.7}$$

By putting $\mathcal{H}_1(z) = y_s \left[\frac{f(z)}{\mathcal{R}_s(z)} - \left(1 - \frac{1}{y_s}\right) \right] = \frac{y_s \sum_{h=1}^{s-1} a_{h-q} z^{h-q}}{1 + \sum_{h=1}^{s-1} a_{h-q} z^{h-q}} + 1$ and applying (3.7) we have

$$\begin{aligned} Re\left(\frac{y_s(z)-1}{\mathcal{H}_1(z)+1}\right) &= \left| \frac{y_s(z)-1}{\mathcal{H}_1(z)+1} \right| \\ &= \left| \frac{y_s \sum_{h=1}^{\infty} a_{h-q} z^{h-q}}{2 + y_s \sum_{h=1}^{\infty} a_{h-q} z^{h-q} + 2 y_s \sum_{h=1}^{s-1} a_{h-q} z^{h-q}} \right| \end{aligned}$$

$$\leq \frac{y_s \sum_{h=1}^{\infty} a_{h-q} z^{h-q}}{2 - y_s \sum_{h=1}^{\infty} a_{h-q} z^{h-q} - 2 \sum_{h=1}^{s-1} a_{h-q} z^{h-q}} \leq 1.$$

A quick computation yields $Re(\mathcal{H}_1(z)) > 0$ and $Re\left(\frac{\mathcal{H}_1(z)}{y_s}\right) > 0$ which is equivalently to

$$Re\left(\frac{f(z)}{\mathcal{R}_s(z)} - \left(1 - \frac{1}{y_s}\right)\right) > 0$$

The first inequality in (3.6) is produced by this. Regarding the second inequality, we think

$$\mathcal{H}_1(z) = (y_s + 1) \left(\frac{\mathcal{R}_s(z)}{f(z)} - \frac{y_s}{y_s + 1}\right) = 1 - \frac{(y_s + 1) \sum_{h=1}^{\infty} a_{h-q} z^{h-q}}{1 + \sum_{h=1}^{\infty} a_{h-q} z^{h-q}},$$

and by using (3.7)

$\left|\frac{\mathcal{H}_2(z) - 1}{\mathcal{H}_2(z) + 1}\right| \leq 1$. Thus $Re(\mathcal{H}_2(z)) > 0$ therefore $Re\left(\frac{\mathcal{H}_2(z)}{y_s + 1}\right) > 0$ which is equivalently to

$$Re\left(\frac{\mathcal{R}_s(z)}{f(z)} - \frac{y_s}{y_s + 1}\right) > 0.$$

Hence, the proof is complete.

Theorem (3.10): This theorem for neighborhoods results, Some ideas, such as neighborhood for analytic univalent functions, will be introduced in this theorem. For analytical univalent functions, Ruscheweyh [14], Raina and Srivastava [15], and Lashin [16] have the necessary neighborhood we define ϵ - neighborhood of $f \in \mathcal{M}_q^h$ given by (1.1) as

$$N_\epsilon(z) = \left\{g(z): g(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} c_{h-q} z^{h-q} \in \mathcal{M}_q^h, \lambda \leq \epsilon\right\}.$$

Where

$$\lambda = \sum_{h=1}^{\infty} \frac{\left[\frac{1}{h+q+1}\right]^x (1-D)(h-q)[\delta(h-q-1)+1]}{q(D-G)[\delta(q+1)-1]} |a_{h-q} - c_{h-q}|.$$

Now, if $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ given by (1.1) and f satisfies the condition

$$\frac{\vartheta z^{-q} + f(z)}{\vartheta + 1} \in \mathcal{M}_q^{h,x}(\delta, G, D) (|\vartheta| < \epsilon, \epsilon > 0, \vartheta \in \mathbb{C}),$$

then $N_\epsilon(f) \subset \mathcal{M}_q^{h,x}(\delta, G, D)$.

Proof: by using (2.1), we have $f \in \mathcal{M}_q^{h,x}(\delta, G, D)$ if and only if

$$\frac{\delta z^{q+2} [\mathfrak{I}_q^\alpha f(z)]'' + z^{q+1} [\mathfrak{I}_q^\alpha f(z)]' - q[\delta(q+1) - 1]}{D[\delta z^{q+2} [\mathfrak{I}_q^\alpha f(z)]'' + z^{q+1} [\mathfrak{I}_q^\alpha f(z)]' - Gq[\delta(q+1) - 1]} \neq \psi,$$

for any $|\psi| = 1, \psi \in \mathbb{C}$ or $\frac{(f * K)(z)}{z^{-q}} \neq 0, (z \in U^*),$ (3.8)

where $K(z) = \frac{1}{z^q} + \sum_{h=1}^\infty d_{h-q} z^{h-q}$. Such that

$$d_{h-q} = \frac{\left[\frac{1}{h+q+1}\right]^x (1-D\psi)(h-q)[\delta(h-q-1)+1]}{q\psi(D-G)[\delta(q+1)-1]},$$
 (3.9)

$$|d_{h-q}| = \left| \frac{\left[\frac{1}{h+q+1}\right]^x (1-D\psi)(h-q)[\delta(h-q-1)+1]}{q\psi(D-G)[\delta(q+1)-1]} \right|$$

$$\leq \frac{\left[\frac{1}{h+q+1}\right]^x (q-\beta)(1-D)(h-q)[\delta(h-q-1)+1]}{q(D-G)[\delta(q+1)-1]},$$

since

$$\frac{\vartheta z^{-q} + f(z)}{\vartheta + 1} \in \mathcal{M}_q^{h,x}(\delta, G, D) (|\vartheta| < \epsilon, \epsilon > 0, \vartheta \in \mathbb{C}),$$

we get

$$\frac{\left(\frac{\vartheta z^{-q} + f(z)}{\vartheta + 1} * K\right)(z)}{z^{-q}} \neq 0, (z \in U^*).$$
 (3.10)

If we assume that $\left|\frac{(f * K)(z)}{z^{-q}}\right| < \epsilon$, then by (3.10), we have

$$\left| \frac{(f * K)(z)}{(\vartheta + 1)z^{-q}} + \frac{\vartheta}{(\vartheta + 1)} \right| \geq \frac{|\vartheta| - 1}{|\vartheta + 1|} \left| \frac{(f * K)(z)}{z^{-q}} \right| > \frac{|\vartheta| - \epsilon}{|\vartheta + 1|} \geq 0,$$

but this is contradiction with $|\vartheta| < \epsilon$, therefore $\left| \frac{(f * K)(z)}{z^{-q}} \right| < \epsilon$.

Now, if we suppose that $g(z) = \frac{1}{z^q} + \sum_{h=1}^{\infty} c_{h-q} z^{h-q} \in N_{\epsilon}(f)$, then

$$\begin{aligned} \left| \frac{(f-g)(z) * K(z)}{z^{-q}} \right| &= \left| \sum_{h=1}^{\infty} (a_{h-q} - c_{h-q}) d_{h-q} z^{h-q} \right| \\ &\leq \sum_{h=1}^{\infty} |a_{h-q} - c_{h-q}| |d_{h-q}| |z^{h-q}| \\ &\leq |z^{h-q}| \sum_{h=1}^{\infty} \frac{\left[\frac{1}{h+q+1} \right]^x (1-D)(h-q)[\delta(h-q+1)+1]}{q(D-G)[\delta(q+1)-1]} |a_{h-q} - c_{h-q}| \leq \epsilon. \end{aligned}$$

Hence, we get

$$\frac{(g * K)(z)}{z^{-q}} \neq 0, (z \in U^*),$$

for any $\psi \in \mathbb{C}, |\psi| = 1$, therefore $g(z) \in \mathcal{M}_q^{h,x}(\delta, G, D)$ which implies that

$$N_{\epsilon}(f) \subset \mathcal{M}_q^{h,x}(\delta, G, D).$$

Conclusion and Future Studies

In this article, we introduced a subclass of meromorphic multivalent functions Defined by integral operator that are important for mathematical finance. As a outcome, we deduced some geometric properties of coefficient estimates, extreme points, convex linear combination, radii of starlikeness and convexity. Furthermore, we investigated the neighborhood of the presented classes.

Finally, we suggest in the future studies the coefficient problems continue to include new classes of other functions and new generalized derivative operators. Also, it is possible to study new properties other than those mentioned in this article.

References

- [1] Harms, P., Stefanovits, D., Affine representations of fractional processes with applications in mathematical finance, *Stochastic Processes and their Applications*, 2019. 129 (4), P. 1185-1228. Doi: 10.1016/j.spa.2018.04.010.
- [2] Choquet, G., Sur un type de transformation analytique generalisant la representation conforme et define au moyen de fonctions harmoniques, *Bull. Sci. Math.*, 1945, 89 (2), P. 156-165.
- [3] Lewy, H., On the non-vanishing of the jacobian in certain one-to-one mappings, *Bull. Amer. Math. Soc.*, 1936. 42. P. 689-692.
- [4] Rado, T., Aufgabe 41, *Jahresber. Deutsch. Math-Vermin.*, 1926, 35, p. 49-62.
- [5] Clunie, J., and Sheil-Small, T., Harmonic univalent functions, *Ann. Acad. Sci. Penn. Ser. A I Math.*, 1984, 9, p. 3-25.
- [6] Choquet, G., Sur un type de transformation analytique generalisant la representation conforme et definie au moyen de fonctions harmoniques, *Bull. Sci. Math.*, 1945, 89 (2), P. 156-165.
- [7] Lewy, H., On the non-vanishing of the Jacobian in certain one-to-one mappings, *Bull. Amer. Math. Soc.*, 1936, 42, P. 689-692.
- [8] Rado, T., Aufgabe 41, *Jahresber. Deutsch. Math. -Vermin.*, 1926, 35, P. 49-62.
- [9] Clunie, J., and Sheil-Small, T., Harmonic univalent functions, *Ann. Acad. Sci. Penn. Ser. A I Math.*, 1984, 9, P. 3-25.
- [10] Tripathi, S., Application of Mathematics in Financial Management, *Advances in Mathematical Finance and Applications*, 2019, 4 (2), p. 1-14. Doi: 10.22034/amfa.2019.583576.1169.
- [11] T. M. Seoudy and M. K. Aouf, class of admissible functions associated with certain integral operator applied to meromorphic functions. *Bull Iranian Math. Soc. Vol. 41 (2015), No. 4*, pp. 793-804.
- [12] H. F. Hussian and A. R. S. Juma, On a second order differential subordination of multivalent meromorphic functions defined by integral operator, *AIP Conference proceeding 2414, 040071 (2023)*.
- [13] Lashin, A. Y., On certain subclasses of meromorphically p-valent functions, *Demonstratio Math.*, 2008, 61, p. 371-380. Doi: 10.1515/dema-2008-0213.
- [14] Raina, K. R., Srivastava, H. M., Inclusion and neighborhoods properties of some analytic and multivalent functions, *J. In-equal. Pure and Appl. Math.*, 2006, 7(1), p. 1-6.
- [15] Ruscheweyh, S., Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, 1981, 81(4), p. 521-527.
- [16] MH. Golmohammadi, S. Najafzadeh, On a generalized subclass of p-valent meromorphic functions by defined q-Derivative operator, *Advanced in Mathematical Finance and Applications* 6(4), 1-25, 2021.